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Cumulative Review

1. Draw and divide an array to show the doubling strategy for 3 x 10.

2. Divide the array model to represent taking apart an unknown fact to find 5 x 3.

00O
00O
00O
00O
00O
00O
00O
00O
00O

3. Take apart the unknown fact to find 9 x 4. Use the graphic organizer below if
needed.

X1 4|5 |4s5+5s | 9

4. What multiplication fact is shown by the array below?

00000000
00000000
(oJoJoJol[oJoJoXo)
00000000
00000000
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6 x 12 Array

OO0OO0O0O0OOOO0O0O0O0O
O0O0O0O0O0O0O0O0O0O0O0
OO0OO0O0O0OOOO0O0O0O0O
O0O0O0O0O0O0O0O0O0O0O0
OO0OO0O0O0OOOO0O0O0O0O
O0O0O0O0O0O0O0O0O0O0O0
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X 1 2 @ | 10| 11
1 1 2 3 4 S 7 8 9 | 10 | 11
2 2 4 6 8 | 1 14116 | 18 | 20 | 22
3 3 6 9 |12 |1 21 | 24 | 27 | 30 | 33
4 4 8 [ 12 | 16 | 2 28 | 32 | 36 | 40 | 44
S 5 | 10| 15| 20| 2 35 | 40 | 45 | 850 | 55
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The 3s Doubled Are the 6s )-
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X1 3 3 Doubled 6

11

12
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The 6s Doubled Are the 125)-
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X | 6 | 6Doubled | 12

11

12
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Practice 1

1. What multiplication fact is shown by the array below?

00000000
00000000
00000000
00000000
00000000
00000000

2. Divide the array to model the doubling strategy for 12 x 7, and then
solve.

3. Draw and divide an array to show the doubling strategy for 12 x 6, and
then solve.
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4. Use the doubling strategy and part of the multiplication table below to
find 6 x 6.
X | 3 | 3Doubled | 6
113
216
3169
4 | 12
5115
6118
7 121
8 |24
9 |2/
10 | 30
11 ] 33
12 ] 36
>,
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Practice 2 )-

Part 1: Complete the 6s and12s rows and columns on the multiplication table.

X 11

1] 1

2
3
4
5
6
7
8
9

—l

0
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Practice 2 (cont.)

Part 2: Answer each question.

1. What multiplication fact is shown by the array below?

000000000
000000000
000000000
000000000
000000000
000000000

2. Divide the array to model the doubling strategy for 12 x 5, and then
solve.

00000
00000
00000
00000
00000
00000
00000
00000
00000
00000
00000
00000

3. Draw and divide an array to show the doubling strategy for 8 x 12, and
then solve.
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Independent Practice

Part 1: Solve each fact.

6x6=

12x6 =

9x6=

12x12 =

8x6=
12x9

Part 2: Fill in the blank for each sentence.

T e
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1. What multiplication fact is shown by the array below?

0000
0000
0000
0000
0000
0000
0000
0000
0000
0000
0000
0000

2. Divide the array to model the doubling strategy for 12 x 8, and then solve.

00000000
00000000
00000000
00000000
00000000
00000000
00000000
00000000
00000000
00000000
00000000
00000000
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3. Draw and divide an array to show the doubling strategy for 6 x 9, and

then solve.

4. Use the doubling strategy and part of the multiplication table below to

find 12 x 12.

6 Doubled

12
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i
é Answer Key: Cumulative Review

1. Draw and divide an array to show the doubling strategy for 3 x 10.

0000000000
0000000000
0000000000

(3x5) (3x5)
N2
(3x5)+(3x5)

N 4

%5 + 15 = 30

2. Divide the array model to represent taking apart an unknown fact to find 5 x 3.

00000000
@)
@)

Gx1) (Gx2)
N2

GxD+GBx2)

A 4

5 + 10 = 15

3. Take apart the unknown fact to find 9 x 4. Use the graphic organizer below if
needed. 9x4=0Ax4) +@x4) =36

X14)| 5 |45+5s | 9

4 116]120|16+20 | 36

4, What multiplication fact is shown by the array below?
Gx4d)+BGx4)=5x8=40

00000000
0000|0000
00000000
00000000
0000|0000
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1. What multiplication fact is shown by the array below?
6x8=@x8)+(3x8)=48

00000000
00000000
00000000
00000000
00000000
00000000

2. Divide the array to model the doubling strategy for 12 x 7, and then
solve. 12x7=(6x7)+(6x7)=84

0000000

0000000

0000000 6 x7)

0000000

0000000

8938888 » cyeen

0000000 412 + 42 = 84
X

0000000

3. Draw and divide an array to show the doubling strategy for 12 x 6, and
thensolve. 12x6=(6x6)+ (6Xx6) =72

000000
000000

000000

000000 ©x9

000000

888888 S (6x6)+6XT)
000000 ooy
000000 %6 36 + 36 = 72
000000 ©x9®

000000

000000
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4. Use the doubling strategy and part of the multiplication table below to
find6x6. 36

X ] 3| 3Doubled | 6

1] 3 3+3 6
216 6+6 12
9 9+9 18

3
4 112 12 +12 24

5115 15+ 15 30

6118 18 + 18 36

7 | 21 21 + 21 42

8 | 24 24 + 24 48

9127 27 + 27 o4

10 | 30 30 + 30 60

11 ] 33 33 + 33 66

12 | 36 36 + 36 72
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é Answer Key: Practice 2 )-

Part 1: Complete the 6s and12s rows and columns on the multiplication table.
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Part 2: Answer each question.

1. What multiplication fact is shown by the array below?
6X7=BxD+@BxN=54

000000000
000000000
000000000
000000000
000000000
000000000

2. Divide the array to model the doubling strategy for 12 x 5, and then
solve. 12x5=(6x5) + (6x5)=:60

00000
00000
00000
00000
00000
00000 x5
OO0O0OO (6x9)

S (6x5)+(6x5)

¥ ¥
09000 AN
00000
00000
00000

3. Draw and divide an array to show the doubling strategy for 8 x 12, and
thensolve. 8x12=(8x6)+ (8x06) =96

000000
000000
000000
000000
000000
000000
000000
000000

B x6)

2

000000
000000
000000
000000
000000
000000
000000
000000

(8x6)

(8X6) +(8%6)

N

48 + 48 =

¥

96

©2011 The University of Texas System/The University of Texas at Austin



ﬁ M ST AR FACTS AND PATTERNS: < H\\
MULTIPLICATION AND DIVISION \/ 1
INTERVENTION Lesson 8: 6s and 125 Handouts

i
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Part 1: Solve each fact.

6x6=_36
12x6=_72
Ox6=_54
12x12=_144
8x6=_48
12x9 = 108

Part 2: Fill in the blank for each sentence.

1. What multiplication fact is shown by the array below?
12x4=(6x4)+(6x4)=48

2. Divide the array to model the doubling strategy for 12 x 8, and then solve.
12x8=(6x8)+ (6x8) =96

00000000
00000000
00000000
00000000
00000000
00000000 > ©x9+6x®
00000000 4
00000000 (. o 8+ a8 = 9%
00000000

00000000

00000000

(6% 8)
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3. Draw and divide an array to show the doubling strategy for 6 x 9, and
thensolve. 6x9=GBx9 + @ x9) =54

000000000
000000000 Gx9)
000000000

000000000 2 GxD+Bx9
000000000 Gx9)
000000000

27 + 27 = 84

4. Use the doubling strategy and part of the multiplication table below o
find 12x 12. 144

6 Doubled

72 +72
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